
From the elastic service level deflections (about 3 mm) under ordinariy dwelling loads a 30 cm 
slab seems more than enough. Hinged supports but corners that free. 



We have set our model in what result somewhat like a hanging sheet deformation. Here the ten-
sile principal stresses at bottom under 35 kgf/cm2.. 



We see here that at the top face for the model the stress is mainly compressive, whilst the tensile 
principal stresses remain under 35 kgf/cm2. 

For this mostly flexural behaviour, a square mesh of 12 mm rebar at 20 cm should be enough. 
You may also run an embedded edge beam with 4 12 mm rebar at corners, and 8 mm diameter 
stirrups at 15 cm. 



For the AS model (which has continuous support enforced under the 
bottom ortogonal edges) the principal stresses stay under 40 kg /cm2  



At bottom as well under 40 kg /cm2.  



Factored shear stress is 5 kgf/cm2 where worse  



Elastic deflection also is under 3 mm (the shown values are for the 
factored loads case) 
 


